

## Disclaimer

The solution at hand was written in the course of the respective class at the University of Bonn. If not stated differently on top of the first page or the following website, the solution was prepared and handed in solely by me, Marvin Zanke. Anything in a different color than the ball pen blue is usually a correction that I or a tutor made. For more information and all my material, check:

<https://www.physics-and-stuff.com/>

**I raise no claim to correctness and completeness of the given solutions! This equally applies to the corrections mentioned above.**

This work by [Marvin Zanke](#) is licensed under a [Creative Commons Attribution-NonCommercial-ShareAlike 4.0 International License](#).

110)  $\{\gamma^\mu, \gamma^\nu\} = \gamma^\mu \gamma^\nu + \gamma^\nu \gamma^\mu = 2g^{\mu\nu} \mathbb{1}_4$  (9)

$g_{\mu\nu} g^{\mu\nu} = 4$  or  $4\mathbb{1}_4$ ?  
 $g_{\mu\nu} g^{\mu\nu} = g_{\mu\nu} \delta^{\mu\nu}$

(i)  $\gamma_\mu \gamma^\mu = g_{\mu\nu} \gamma^\nu \gamma^\mu = g_{\mu\nu} (\frac{1}{2} \gamma^\nu \gamma^\mu + \frac{1}{2} \gamma^\mu \gamma^\nu) = g_{\mu\nu} (\frac{1}{2} \gamma^\nu \gamma^\mu) + g_{\mu\nu} (\frac{1}{2} \gamma^\mu \gamma^\nu)$   
 $g_{\mu\nu} \gamma^\mu \gamma^\nu = g_{\mu\nu} (\frac{1}{2} \gamma^\nu \gamma^\mu) + g_{\mu\nu} (\frac{1}{2} \gamma^\mu \gamma^\nu) = \frac{1}{2} g_{\mu\nu} (\gamma^\nu \gamma^\mu + \gamma^\mu \gamma^\nu)$   
 $= \frac{1}{2} g_{\mu\nu} \cdot 2g^{\mu\nu} \mathbb{1}_4 = g_{\mu\nu} g^{\mu\nu} \mathbb{1}_4 = 4\mathbb{1}_4$

$\mathbb{1}_4$  and  $\gamma^\mu$  commute? (ii)

$\gamma_\mu \gamma^\nu \gamma^\mu \stackrel{(9)}{=} \gamma_\mu (2g^{\mu\nu} \mathbb{1}_4 - \gamma^\mu \gamma^\nu) \stackrel{(i)}{=} 2\gamma^\nu \mathbb{1}_4 - 4\mathbb{1}_4 \gamma^\nu$   
 $= -2\gamma^\nu \mathbb{1}_4 = -2\gamma^\nu$

What is  $\gamma^\mu$  if  $\gamma^\mu$  are the matrices from lecture?

(iii) Remark:  $\{\gamma^\nu, \gamma^\lambda\} = \gamma^\nu \gamma^\lambda + \gamma^\lambda \gamma^\nu = 2g^{\nu\lambda} \mathbb{1}_4$   
 $\{\gamma^\lambda, \gamma^\nu\} = \gamma^\lambda \gamma^\nu + \gamma^\nu \gamma^\lambda = 2g^{\lambda\nu} \mathbb{1}_4$

What for all those properties (i)-(iii)?

$\gamma_\mu \gamma^\nu \gamma^\lambda \gamma^\mu \stackrel{(9)}{=} \gamma_\mu \gamma^\nu (2g^{\lambda\mu} \mathbb{1}_4 - \gamma^\mu \gamma^\lambda) \stackrel{(ii)}{=} 2g^{\lambda\mu} \gamma_\mu \gamma^\nu \mathbb{1}_4 - \gamma_\mu \gamma^\nu \gamma^\mu \gamma^\lambda$   
 $\stackrel{\text{no effect on } \gamma^\mu}{=} 2\gamma^\lambda \gamma^\nu - (-2\gamma^\nu \gamma^\lambda) = 2(\gamma^\lambda \gamma^\nu + \gamma^\nu \gamma^\lambda) = 2\{\gamma^\lambda, \gamma^\nu\}$   
 $= 4g^{\lambda\nu} \mathbb{1}_4$

$g^{\lambda\nu} \gamma^\mu = \gamma^\mu$ ?

(iv)  $\gamma_\mu \gamma^\nu \gamma^\lambda \gamma^\mu \gamma^\rho \gamma^\mu \stackrel{(9)}{=} \gamma_\mu \gamma^\nu \gamma^\lambda (2g^{\rho\mu} \mathbb{1}_4 - \gamma^\mu \gamma^\rho) = 2g^{\rho\mu} \gamma_\mu \gamma^\nu \gamma^\lambda \mathbb{1}_4 - \gamma_\mu \gamma^\nu \gamma^\lambda \gamma^\mu \gamma^\rho$   
 $= 2\gamma^\rho \gamma^\nu \gamma^\lambda - (4g^{\lambda\nu} \mathbb{1}_4) \gamma^\rho = 2\gamma^\rho (2g^{\lambda\nu} \mathbb{1}_4 - \gamma^\lambda \gamma^\nu) - 4g^{\lambda\nu} \gamma^\rho$   
 $= 4\gamma^\rho g^{\lambda\nu} - 2\gamma^\rho \gamma^\lambda \gamma^\nu - 4g^{\lambda\nu} \gamma^\rho = -2\gamma^\rho \gamma^\lambda \gamma^\nu$

Why not keep in this form?

(v)  $\text{Tr}(\gamma^\mu \gamma^\nu) \stackrel{(9)}{=} \text{Tr}(2g^{\mu\nu} \mathbb{1}_4 - \gamma^\mu \gamma^\nu) \stackrel{\text{P1(a)}}{=} 2g^{\mu\nu} \text{Tr}(\mathbb{1}_4) - \text{Tr}(\gamma^\mu \gamma^\nu)$   
 $\stackrel{\text{P1(b)}}{=} 2g^{\mu\nu} \cdot 4 - \text{Tr}(\gamma^\mu \gamma^\nu) = 8g^{\mu\nu} - \text{Tr}(\gamma^\mu \gamma^\nu)$   
 $\Leftrightarrow 2\text{Tr}(\gamma^\mu \gamma^\nu) = 8g^{\mu\nu}$   
 $\Leftrightarrow \text{Tr}(\gamma^\mu \gamma^\nu) = 4g^{\mu\nu}$

Why do  $\gamma^\mu$  &  $p_\mu$  commute?  
 $p_\mu$  is scalar, but operator?

(vi)  $\text{Tr}(p \cdot \gamma) = \text{Tr}(\gamma^\mu p_\mu \gamma^\nu k_\nu) = \text{Tr}(p_\mu \gamma^\mu \gamma^\nu k_\nu) \stackrel{\text{P1(a)}}{=} p_\mu \text{Tr}(\gamma^\mu \gamma^\nu) k_\nu$   
 $\stackrel{(v)}{=} p_\mu (4g^{\mu\nu}) k_\nu = 4p^\nu k_\nu = 4(p \cdot k)$

(vii) Remark:  $\{\gamma^\mu, \gamma^\nu\} = 0$  for  $\mu \neq \nu \Leftrightarrow \gamma^\mu \gamma^\nu = -\gamma^\nu \gamma^\mu$

$$\gamma_5 := i\gamma^0\gamma^1\gamma^2\gamma^3$$

$$\begin{aligned} \rightarrow \{\gamma_5, \gamma^\mu\} &= i\gamma^0\gamma^1\gamma^2\gamma^3\gamma^\mu + i\gamma^\mu\gamma^0\gamma^1\gamma^2\gamma^3 = i(\gamma^0\gamma^1\gamma^2\gamma^3\gamma^\mu + \gamma^\mu\gamma^0\gamma^1\gamma^2\gamma^3) \\ &= \begin{cases} \underline{\mu=0}: i(\gamma^0\gamma^1\gamma^2(-\gamma^0\gamma^3) + \gamma^0\gamma^0\gamma^1\gamma^2\gamma^3) \\ \quad \text{(ok, not needed)} = i(\gamma^0\gamma^1\gamma^2\gamma^3\gamma^3 + \gamma^0\gamma^1\gamma^2\gamma^3) \\ \quad = i(\gamma^0(-\gamma^0\gamma^1)\gamma^2\gamma^3 + \gamma^0\gamma^1\gamma^2\gamma^3) = 0 \\ \underline{\mu=1}: i(\gamma^0\gamma^1\gamma^2(-\gamma^1\gamma^3) + (-\gamma^0\gamma^1)\gamma^1\gamma^2\gamma^3) \\ \quad = i(\gamma^0\gamma^1\gamma^2\gamma^3 - \gamma^0\gamma^1\gamma^1\gamma^2\gamma^3) = 0 \\ \underline{\mu=2}: i(\gamma^0\gamma^1\gamma^2(-\gamma^2\gamma^3) + (-\gamma^0\gamma^2)\gamma^1\gamma^2\gamma^3) \\ \quad = i(-\gamma^0\gamma^1\gamma^2\gamma^3 + \gamma^0\gamma^1\gamma^2\gamma^3) = 0 \\ \underline{\mu=3}: i(\gamma^0\gamma^1\gamma^2\gamma^3 + (-\gamma^0\gamma^3)\gamma^1\gamma^2\gamma^3) \\ \quad = i(\gamma^0\gamma^1\gamma^2\gamma^3 + \gamma^0\gamma^1\gamma^2\gamma^3) \\ \quad = i(\gamma^0\gamma^1\gamma^2\gamma^3 + \gamma^0\gamma^1\gamma^2\gamma^3) = 0 \end{cases} \end{aligned}$$

Nicer way w/o different cases?

$$\begin{aligned} \text{(viii) } \text{Tr}(\gamma_5) &= \text{Tr}(\gamma_5 \gamma^\mu (\gamma^\mu)^{-1}) \stackrel{\text{P.1b)}}{=} \text{Tr}((\gamma^\mu)^{-1} \gamma_5 \gamma^\mu) \stackrel{\text{(vii)}}{=} \text{Tr}((\gamma^\mu)^{-1} \gamma^\mu \gamma_5) \\ &= -\text{Tr}(\gamma_5) \rightarrow \text{Tr}(\gamma_5) = 0 \quad \text{Nice! } \checkmark \end{aligned}$$

How do we know that  $\gamma^\mu$  is invertible?

Could also instantly see this with P.1c) and (vii) as (vii) proves that  $\gamma^\mu$  and  $\gamma_5$  anticommute.  $\gamma^\mu$  is invertible and thereby we can use P.1c).  
 $\uparrow$   
 $(\gamma^0)^2 = 1, (\gamma^i)^2 = -1$

$$\begin{aligned} \text{(ix) } (\gamma_5)^2 &= \gamma_5 (i\gamma^0\gamma^1\gamma^2\gamma^3) = (-i\gamma^0\gamma^1\gamma^2\gamma^3) \stackrel{(\gamma^0)^2=1}{=} (i\gamma^0\gamma^1\gamma^2\gamma^3\gamma^0\gamma^1\gamma^2\gamma^3) \\ &= \gamma^1\gamma^2(-\gamma^1\gamma^3)\gamma^2\gamma^3 \stackrel{(\gamma^1)^2=-1}{=} \gamma^1\gamma^1\gamma^2\gamma^3\gamma^2\gamma^3 = -(\gamma^2\gamma^3(-\gamma^3\gamma^2)) = 14 \end{aligned}$$

What for (vii)?

$$\begin{aligned} \text{(x) } \text{Tr}(\gamma^\mu \gamma^\nu \dots \gamma^\mu) &\stackrel{\text{(ix)}}{=} \text{Tr}(\gamma_5 \gamma_5 \gamma^\mu \gamma^\nu \dots \gamma^\mu) \stackrel{\text{(vii)}}{=} \text{Tr}(\gamma_5 \gamma^\mu \gamma_5 \gamma^\nu \dots \gamma^\mu) \\ &\stackrel{\text{repeat for all } \gamma_5}{=} \text{Tr}((- \gamma_5 \gamma^\mu \gamma_5)(- \gamma_5 \gamma^\nu \gamma_5) \dots (- \gamma_5 \gamma^\mu \gamma_5)) \\ &\stackrel{\text{(ix)}}{=} (-1)^n \text{Tr}(\gamma_5 \gamma^\mu \gamma^\nu \dots \gamma^\mu \gamma_5), \quad n := \#\gamma_5 \\ &\stackrel{\text{P.1b)}}{\text{(ix)}}{=} (-1)^n \text{Tr}(\gamma^\mu \gamma^\nu \dots \gamma^\mu) \end{aligned}$$

$$\text{For } n \text{ odd} \Rightarrow \text{Tr}(\gamma^\mu \gamma^\nu \dots \gamma^\mu) = -\text{Tr}(\gamma^\mu \gamma^\nu \dots \gamma^\mu) \Leftrightarrow \text{Tr}(\gamma^\mu \gamma^\nu \dots \gamma^\mu) = 0$$

b)  $\gamma_5 = i\gamma^0\gamma^1\gamma^2\gamma^3$  with

$\gamma^0 = \begin{pmatrix} \mathbb{1}_{2 \times 2} & 0 \\ 0 & -\mathbb{1}_{2 \times 2} \end{pmatrix} = \beta$

$\rightarrow \gamma^1 = \begin{pmatrix} \mathbb{1}_{2 \times 2} & 0 \\ 0 & -\mathbb{1}_{2 \times 2} \end{pmatrix} \begin{pmatrix} 0 & \sigma_1 \\ \sigma_1 & 0 \end{pmatrix}$

$= \begin{pmatrix} 0 & \sigma_1 \\ -\sigma_1 & 0 \end{pmatrix}$

$\gamma^2 = \begin{pmatrix} \mathbb{1}_{2 \times 2} & 0 \\ 0 & -\mathbb{1}_{2 \times 2} \end{pmatrix} \begin{pmatrix} 0 & \sigma_2 \\ \sigma_2 & 0 \end{pmatrix}$

$= \begin{pmatrix} 0 & \sigma_2 \\ -\sigma_2 & 0 \end{pmatrix}$

$\gamma^3 = \begin{pmatrix} 0 & \sigma_3 \\ -\sigma_3 & 0 \end{pmatrix}$

$\gamma^i = \beta \alpha^i, \alpha^i = \begin{pmatrix} 0 & \sigma_i \\ \sigma_i & 0 \end{pmatrix}$

$\sigma_1 = \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix}$

$\sigma_2 = \begin{pmatrix} 0 & -i \\ i & 0 \end{pmatrix}$

$\sigma_3 = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}$

What is meant by standard representation?

$\rightarrow \gamma_5 = i \begin{pmatrix} \mathbb{1}_{2 \times 2} & 0 \\ 0 & -\mathbb{1}_{2 \times 2} \end{pmatrix} \begin{pmatrix} 0 & \sigma_1 \\ -\sigma_1 & 0 \end{pmatrix} \begin{pmatrix} 0 & \sigma_2 \\ -\sigma_2 & 0 \end{pmatrix} \begin{pmatrix} 0 & \sigma_3 \\ -\sigma_3 & 0 \end{pmatrix}$

$= i \begin{pmatrix} 0 & \sigma_1 \\ \sigma_1 & 0 \end{pmatrix} \begin{pmatrix} -\sigma_2 \sigma_3 & 0 \\ 0 & -\sigma_2 \sigma_3 \end{pmatrix} = i \begin{pmatrix} 0 & -\sigma_1 \sigma_2 \sigma_3 \\ -\sigma_1 \sigma_2 \sigma_3 & 0 \end{pmatrix}$

$= \begin{pmatrix} 0 & \mathbb{1}_2 \\ \mathbb{1}_2 & 0 \end{pmatrix}$

Correct order of multiplication important?

$\sigma_1 \sigma_2 \sigma_3 = \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} 0 & -i \\ i & 0 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}$

$= \begin{pmatrix} i & 0 \\ 0 & -i \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}$

$= \begin{pmatrix} i & 0 \\ 0 & i \end{pmatrix}$